4.5 Prove Triangles Congruent by
SAS and HL

You used the SSS Congruence Postulate.
B2 You will use sides and angles to prove congruence.

B JZ4 So you can show triangles are congruent, as in Ex. 33.
G.CO.10 Prove theorems about triangles.

Inclided Angle ) The angle included between two sides.

POSTULATE for Your Notebook

PosTuLaTe 20 Side-Angle-Side (SAS) Congruence Postulate

If two sides and the included angle of one triangle are congruent to two
sides and the included angle of a second triangle, lhen Lhe tw I.rlangles

are congruent. ,nc 'A e

If Side RS=TV,
Angle £R= /U, and
Side RT=TW,

then ARST = AUV

Given: BC = D4, BC || AD
Prove: AABC = ACDA

Statement

BC = DA, BC|| AD Given

LADRIHB | Al ss
AC=CA [ Rellygwe
S




In the diagram, QS and RP pass through the center M of the circle.
What can you conclude about AMRS and AMPQ ?

Statement Reason
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 THEOREM  For Your Notebook

THEOREM 4.5 Hypotenuse-Leg (HL) Congruence Theorem

If the hypotenuse and a leg of a right triangle A 0
are congruent to the hypotenuse and a leg of a£ '0’9
second right triangle, then the two triangles 9

are Congruent.

= & DEF




Use HL to prove AWYZ = AXZY
Given: Wy =xz, WZ 1. ZY, XY L ZY

Statement Reason
WY =%z, Wz 1 7Y, Gi
7 L7V |ve.n
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Z2Y=YZ 0 POk
A?VYZ ~ AXZY H L v

State whether or not the following pairs of triangles must be congruent.

If so, name the postulate that is used.
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Given: X is the midpoint of AD and BE 4

Prove: AAXB >~ ADXE

Statement

Reason

X is the midpoint of AD
X is the midpoint of BE

eyt Kl

Given

dot.

AAXB ~ ADXE!' SAS

Given: AABC isfisosceles |
D is the oint of AC

Prove: AABD =~ ACBD

Statenient ] Reason
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